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Peter’s jacket cost Jack’s. @ @ @

(A) twice more than

(B) two times more as

(C) twice as much as

(D) twice more as

The correct answer above is (C).
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1. None of the clocks in the old section of the city work anymore, but they perfectly.
(A) were used to work
(B) were used to working @ @ @
(C) use to work
(D) used to work
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2. Some waterspouts begin over the water and, with great speed, move towards the
shore.
(A) alike some hurricanes
(B) like some hurricanes @ @ @

(C) are like some hurricanes
(D) which they are like some hurricanes
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3. In the zoo there was

(A) a hundred-years-old elephant @ @ @
(B) hundred-year-old elephant
(C) a hundred-years-aged elephant

(D) a hundred-year-old elephant
edly o ga g Ul sis Jad S s g8l oo

4. The governor has repeatedly stated that, before he leaves office, he balance the
budget.
(A) would like
(B) had wanted to @ @ @
(C) would like to
(D) likes to
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10.

11.

Behavioral scientists say that it is essential that an infant loving attention.

(A) be given @ @ @
(B) is given

(C) should be given

(D) receives
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The microphone went dead while the narrator the cast. @ @ @
(A) was introduced

(B) was introducing

(C) has been introducing

(D) had introduced
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, the students placed their pencils on their desks and left the room. @ @ @
(A) Being finished the test
(B) All the test now being over
(C) Before the bell's ringing
(D) Having completed the test
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In the moming the streets were flooded. There a cloudburst during the night.

(A) must have been @ @ @

(B) has been

(C) must be
(D) must to been
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Although the city is small, its library is as complete .
(A) as a large city @ @ @
(B) like a large city
(C) as that of a large city
(D) like larger cities
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The transportation director favors repairing existing highway systems new
highways.
(A) rather than to build
(B) instead of to build @ @ @
(C) instead to build

(D) rather than building
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Before Matisse, the famous French artist, his own style of painting, he had

painted in the classical style.
(A) developed @ @ @

(B) had developed
(C) was develop
(D) will have developed
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12. Daniel Webster, for his brilliant oratory, made his most famous speech in the

Senate in 1830. @ @ @

(A) who was knowing
(B) known
(C) was known
(D) having known
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13. Can you tell me ? @@@

(A) who Babe Ruth was
(B) who was Babe Ruth
(C) whom Babe Ruth was
(D) whom was Babe Ruth
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14. North America produces a great deal more wheat

(A) as South America . @ @ @

(B) than does South America
(C) like South America does
(D) than like South America
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15. Most doctors agree that exercise improves the circulation of the blood; there are

doctors who believe that excessive exercise may do some damage.

(A) on the contrary @ @ @

(B) otherwise
(C) on the other hand
(D) therefore
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ANSWERS

1. D Used to and would in past tense 8. A Past modal

2. B Types of clauses and sentences. Like as preposition 9. C Demonstrative pronouns; adjectives of
equality

3. D Nouns 10. D Parallel structure

4. C Reporting verbs 11. A Past tense with past perfect

5. A Proposal clauses 12. B Using participles and phrases

6. B Past continuous 13. A Direct speech

7. D Using participles and phrases 14. B Variation of endings

15. C Conjunctions
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Keeping clean is surely one of the most important rule of good hygiene. @ @ @

A B C D



The correct answer above is (D). ol CA ndlags Gl 68 G Sage 3 (S (SOSL baa

16. Nobody had the opportunity during the course of several meetings to express their
A

B
opinion on the subject of increased taxes. @ @ @
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17. Some art connoisseurs have remarked that Picasso was more versatile than any artist.
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18. Rarely are animals products, such as meat, milk, or eggs, sold directly to the consumer.
A B C D

19. The traffic’s noise is becoming a problem to the Smiths, accustomed as they are to the
A B C D

peacefulness of country life. @ @ @
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20. The article stating the state Supreme Court had overturned the decision made by the
A B

C D
lower court on the issue of high-rise construction. @ @ @
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21. The winner had indeed demonstrated remarkable reserves of energy, which was

A B
apparently available to him at the crucial time.
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22. A diamond, used not only in jewelry but in industrial cutting devices, is one of nature’s
A B C

D
hardest substances. @ @ @
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23. In a corporation it is usual the chairman who presides over meetings.
is us ides ove OOO®
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24. Having worked with the elderly for several years, Mrs. Jones knows how important it is to
A B C
behave kindly and with thoughtfulness towards them.
h OO
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25. The photosynthesis process, which plants absorb carbon dioxide and release oxygen, is
A B

just the opposite of that of man.
C D

158 e s Tad (i€ o 03T 500 5 80,8 Gia 1 oS waeeSl 50 LS 5T Gaob 31 48 S 538 winl 3

26. Although Ponce de Leon didn’t find the “Fountain of Youth” which he had sought but he
A B

did discover a beautiful area of land named Florida.
C D
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27. Those who shop reguiarly for food and clothing generally they are aware of quality and
B C D

A
prices. itees o7 Laciad 5 i€ 51 Y gars wind oo Gulid 5 132 (350 € LS

28. It was King Louis xiv who had the magnificent Palace of Versailles build; however, the
A B

cost was so great that the people of France were angered.
C D
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29. The people of Pakistan, which land is quite mountainous, are nevertheless primarily
A B C D

farmers. i 5558 Buae 5 gm0l b el 3len € YlS o Liine ) sen oS (Ll au s

30. Much of the forest, along with the farmland, near the Mount Saint Helens volcano,
A B

appears to be destroyed at the time of the eruption.
C D
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31. Of the two suspension bridges in Northern California, the Bay Bridge, not the Golden

A
Gate Bridge, is the largest.
B C D
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32. The man avoided, by turning suddenly into a driveway, to hit the child riding a tricycle
A B C

across the street.
D
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33. The inventor found himself laying awake at night in an effort to understand the error in
A B C D

his design.
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34. Naturally, one would not suspect that people like ourselves would neglect to vote in an
A B C D

election.
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35. Vaslav Nijinsky was the Polish ballet dancer leaped remarkable heights into the air.
A B C D
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36. Predicting a shortage of young workers in the near future, unemployment and low wages

A B C

are expected to decrease, researchers say.
D
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37. The reason that the building industry declined was because the interest rate on loans was

A B C
so high.
38. Children should be given immunizing injections in order to prevent them catching some
A B C

of the serious diseases.
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39. If Keats didn’t die at the young age of 26, he might have become England’s greatest lyric
A B C D
poet.
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40. We found the food in the Thai restaurant to be quite different than that in the Vietnamese

A B C D
restaurant. il ol s o) siea 5132 31 @ slite SalS 15 il o) s, (slae
ANSWERS

16. B his or her. Pronoun-antecedent agreement

17. D any other artist. Comparative of indefinite adjectives and pronouns
18. B animal. Nouns

19. A traffic. Nouns

20. A The article stated. Independent and dependent clauses
21. B were. Subject-verb agreement

22. B but also. Parallel structure

23. B usually. Adverbs

24. D thoughtfully. Parallel structure

25. A by which. Relative pronouns

26. B omit but. Conjunctions

27. C omit they. Rules of written expression

28. A built. Causative Passive

29. A whose. Relative pronouns

30. D to have been destroyed. Infinitives

31. D larger. Comparative adjectives

32. B hitting. Gerunds



33.
34.
3s.
36.
37.
38.

39
40

C lying. Verbs

C us. Nonreflexive pronouns; Reflexive pronouns

B who leaped. Relative pronouns

C researchers say unemployment (etc.). Using participles
B that. Reason with “that clause” in Common Errors

C their. Gerund with possessive

. A hadn’t died. Conditional, past unreal
. C from. Prepositions
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1. The X.X. Company employs a staff of forty engineers.
S o aladiel 1) Gusige Jea Jold 50l XX oS,
2. Asin other languages, changes in English continue to occur.
8] o U Gliaan (a1 (L5 o oS dagly sle il
3. Four times a year, the department heads attend a conference.
S e =S5t el s Oledles Glysae e Llen s
4. Homonyms sound alike but they don 't have the same meaning.
i Bae o Lol s gty o L2l aa auit I sTan slas3l
5. A gothic arch is one which rises to a point.
g0 58 S5 4 oS sl (6 (S5 S 36
6. Kenji and Alain never miss their weekly bridge game.
s oad s Sy Gl K588 s 3L K58 o 5 oS
7. The Chans aren’t home today. They’re at their studio.
Aiieaa Glia s (g0l o lag T ol GLA 556l Lails bl pla
8. T understand that there are about 16,000 kinds of butterflies in the world.
ol e g Liu Ho dlgon g Ve e e B Al «S a3l o
9. Whenever the science class students save time, they like to look at the slides of earlier
field trips.
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10. If (or: when) one travels to other countries, one learns about other cultures. (or: one will
learn about other cultures).
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When one listens, one learns a lot.
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When one listens, one will learn a lot.
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(You) Open your books and turn to page 81. w5, AY ads 0 5w 50 1, Hllao S (Lak)
Willie, (you) read your essay please. Olsas 1 eladlie (43) Lk (b
(You) Try to swim with your eyes open. S L b Gladia b oS a (85)
Frequency Adverbs With Present Tense 2950 4l d Jla Gle)y Lids IS5y gad
33 addle S5 098 5l (pan
usually Ysess || nEVEr gz 5 0
sometimes Syl an o 2 || occasionally S cdg diz o ol5aS
generally Ysose || frequently el
always o lgen ives || seldom PURVESCR Y
often lbedy i el | rarely & pdidy

1. Students often have difficulty deciding on a major.
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2. Many of the club members are seldom at the meetings.
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3. A shrewd politician generally understands psychological distinctions.
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Sl o 5ewa) scarcely (o usa) rarely (oS (L o0 40) seldom (cdgzn 5 ,0) nEver
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(wrong):
RIGHT:

om0 e 208 LT b &€ s (30
(He doesn’t seldom smile.)
He seldom smiles. VS RER L Qi VORI
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GLSS Cdg aiar @ )l 55T 0948 (W10 pd dmis S0 4od a5 scarcely, hardly, barely) ..ous 5,lgb0
(never, seldom, rarely) oo o o,La!

(wrong):  (He scarcely attends class.)
RIGHT: He rarely attends class. S o oS /0 s g0 pala (oIS 0 o aa )
RIGHT: Because of his hearing loss, he scarcely hears me when I speak.

Gull (1S5 0508 4S WS =l iy o GLas A gla,lBal Huly 1SS 0 908 Jas g sulil 35a0 55 & las
Ly LIS 4 Jladl (adde K 5l Js always gl «
The history lectures in Room 22 sometimes aren’t interesting.
e Qs BBl iy 0 g oo IS8 VY QIS 5o oS sl slagu o
They generally don’t retire before midnight.
o Sl & cdidan 51 i3 Y sare Loy
He doesn’t always leave before six o’clock. Sometimes he works until seven o’clock.
LS o LS mda el B a8 0 sl A [GEOS Jae HI] G celis 31 a3 diinan
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(wrong):  (She complains that he doesn’t sometimes listen to her.)
RIGHT:  She complains that he sometimes doesn 't listen to her.

(wrong): (Mr. Moto often go on business trips.)
RIGHT:  Mr. Moto often goes on business trips.
B0 oS slaia 4 Llel 4ise SBI
(wrong):  (Although Rhode Island is the smallest state in the United States, it don’t have the
fewest number of people.)
RIGHT:  Although Rhode Island is the smallest state in the United States, it doesn’t have
the fewest number of people.
I 1y LSl laas o 53eS (el peT Suate @l @bl o yiKa € Wby, @bl 4 S
(wrong): (Kevin is never forgetting to send birthday cards to his friends.)
RIGHT: Kevin never forgets to send birthday cards to his friends.
8 ol 55 oIS Gl g (50 4S WIS gad (5 sal 8 858 psS
(wrong):  (Mrs. Rossi has thirty years.)
RIGHT:  Mrs. Rossi is thirty. Mrs. Rossi is thirty years old. Mrs. Rossi is thirty years of
age. Mrs. Rossi is a thirty-year-old woman.

(wrong):  (There is still people in California who searches for gold.)
RIGHT:  There are still people in California who search for gold.
D38 e M Jliis 4 LAl o S SlaS witiua 5 5ia
(wrong):  (The poor man isn’t hardly able to walk.)
RIGHT:  The poor man is hardly able to walk.  .cuul (38, o) 5 4 old Saiuds und/sylaw 050





